Assembly Instructions
For The Hickory Coffee Table & Farm Table

Tools Needed: Parts List: Hardware:
1/2” Wrench or Socket Table Top (1) 5/16” Hex Nuts (8)
Table Legs (4) 1/4” Washers (8)

Step 1 Lay the table top upside down on a clean sutface. Be careful that the table top does
not get scratched.

Step 2 Take a table leg and take the bolt covers off the end of the bolts. Insert the bolts
through the holes in the corner bracket in one corner of the table. (The leg belongs
on the outside). Put a 1/4” washer and a 5/16” hex nut on the ends of the bolts and
tighten with the 1/2” wrench or socket. Attach the other legs the same way.




